


FOR DETAILED SOLUTIONS VISIT www.ibtindia.com CALL 94636-12090

IPPB OFFICER SCALE - | (PRE) MOCK TEST -1

TOTAL TIME:- 60 MINS

Direction (Q. 1-5): In these
questions, a relationship between
different elements is shown in the
statements(s). The statements are
followed by two conclusions. Give
answer

(A) If only conclusion | is true.

(B) If only conclusion I is true.

(C) If either conclusion I or Il is true.
(D) If neither conclusion I nor Il is
true.

(E) If both conclusions | and Il are
true.

1. Statements :
A>B>C<D,C=E>G
Conclusions :
I.D>E

2. Statements :
P<Q>M=>N,Q=S
Conclusions:
I.S>P

3. Statements :
S>M=Z>T<Q>V
Conclusions :
LV=S

4. Statements :
T<U=V<S>P>Q
Conclusions:
1.S>T

5. Statements :
M>N>R>W,E=J>L>W

I.B>E

I.N<S

.Q>M

I.V>Q

Conclusions :

I.E>W I.M>L
Direction (Q. 6-10): Study the
following information carefully

and answer the given questions:
Seven persons Ajay, Aakash,

Ankit, Amit, Anupam, Avinash and
Anurag conduct  workshop  on
personality development in seven
different companies A, B, C, D, E, F
and G on a different day of the week
from Monday to Sunday. The order
of persons, companies and days of
the week are not necessarily the
same.

Aakash organizes workshop in
Company D on Wednesday. Amit
does not conduct workshop for

REASONING ABILITY

companies A or C and conducts
workshop on the next day of the day
on which Anupam conducts the
workshop and he conducts workshop
for Company F. Avinash conducts
workshop for Company E on Friday.
Anurag conducts workshop on
Monday but not for Company C or
G. Ankit conducts workshop for
Company A but not on Tuesday.

6. Who conducts workshop on
Saturday?

(A) Ankit

(B) Amit

(C) Anupam

(D) Amit or Anupam

(E) None of These

7. On which day does Amit conduct
the workshop?

(A) Sunday

(B) Saturday

(C) Tuesday

(D) Cannot be determined

(E) None of These

8. Ankit conducts workshop on
which day?

(A) Saturday

(C) Tuesday

(E) None of These
9. Which of the following
combinations of person-company and
day is correct?

(A) Anurag — B — Wednesday

(B) Ajay — B — Monday

(C) Anurag — C — Monday

(D) Anurag — G — Sunday

(E) None of These

10. Who conducts workshop for
Company C and on which day?

(A) Ajay, Thursday

(B) Ajay, Tuesday

(C) Amit, Saturday

(D) Amit, Sunday

(E) None of These

(B) Sunday
(D) Thursday

Direction (Q. 11-15): Study the

following information carefully

and answer the given questions:
Arpit, Arjit, Raman, Anil,

Ravi,Ritesh and Rohit are seven

friends. They play three types of

games, viz Snooker, Ice hockey and

Table tennis. Each game is played by

at least two players. Each one of

them has a favorite car, viz Honda,

Fiat, Ferrari, Benz, Etios, Swift and

Beleno, but not necessarily in the

same order.

Avrjit likes Etios and does not play

Table tennis. The one who likes

Beleno plays the same game as Ravi.

Raman likes Fiat and plays the same

game as Rohit. Anil plays Ice hockey

only with the one who likes Honda.

Rohit plays neither Ice hockey nor

Table tennis. Ritesh does not like

Beleno. Rohit likes neither Benz nor

Ferrari. Anil does not like Benz. Ravi

does not like Honda.

11. Which of the following groups

plays Snooker?

(A) Arjit, Rohit

(B) Arpit, Arjit, Raman

(C) Arjit, Raman, Rohit

(D) Anil, Rohit, Arjit

(E) None of these

12. Who likes Ferrari Car?

(A) Arpit (B) Ronhit

(C) Ritesh (D) Anil

(E) None of these

13. Which of the following cars does

Arpit like?

(A) Ferrari

(C) Honda

(D) Either Beleno or Swift

(E) None of these

14,  Which of the

combinations is true ?

(A) Arpit-Beleno-Table tennis

(B) Rohit-Honda-Table tennis

(C) Arjit—Etios—Ice hockey

(D) Anil-Ferrari-Snooker

(E) None of true

15. Who likes Honda?

(B) Beleno

following

(A) Rohit (B) Arpit
(C) Ravi (D) Raman
(E) Ritesh
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Direction (Q. 16-18): Following
guestions are based on the
information provided below:

‘A x B’ means “A is mother of B’.
‘A - B’ means ‘A is brother of B’.
‘A + B’ means ‘A is sister of B’.

‘A + B’ means ‘A is father of B,

16. Which of the following means
‘X’ is maternal uncle of ‘Z’?
(A)X-YxZ (B)YX+YxZ
(©)zxY-X (D)Z+Y =X
(E) None of these

17. Which of the following means
‘K’ is paternal grandfather of ‘M’?
(AK-L+M (B)K+L-M
C)K+=L+M (DO)M=+L=+K
(E) None of these

18. How is C related to Ain A+ B -
C?

(A) Son

(B) Daughter

(C) Nephew

(D) Cannot be determined

(E) None of these

19. The rank of Abhijeet from the top
is 10th and 18th from the bottom.
How many students are there in the
class?

(A) 27

(C) 29

(E) None of these
20. Sanjana remembers that the
birthday of his brother falls after
August 15 but before August 18
while her sister remembers that the
birthday of his brother falls after
August 16 but before August 19.
What is the birthday of brother of

(B) 28
(D) 30

Sanjana?

(A) August 16 (B) August 18

(C) August 19 (D) August 17

(E) None of these

Direction (Q. 21-25): In this
guestion  two/three  statements
followed by two conclusions
numbered | and 1l have been

given. You have to take the given
statements to be true even if they
seem to be at variance with
commonly known facts and then
decide which of the given
conclusions logically follows from
the given statements disregarding
commonly known facts.

(A) Only conclusion 1 is true

(B) Neither conclusion I nor Il is true
(C) Only conclusion Il is true

(D) Both conclusions I and Il are true
(E) Either conclusion I or Il is true

21. Statement:

No flower is a tree.

All leaves are trees.

Some garden are leaves.
Conclusions:

I. No leaves is a flower.

I1. At least some garden are trees.

22. Statements:

Some movie are actor.

Some actor are director.
Conclusions:

I. Some director are definitely not
actor.

Il. Some director being movie is a
possibility.

23. Statements:

Some hills are Mountains.

No Mountains is a valley.

All valley are River.

Conclusions:

I. At least some River are Mountains.
1. No valley is a hills.

24. Statements:

Some teachers are students.

All students are friends.

Some friends are parents.
Conclusions:

I. All teachers being friends is a
possibility.

I1. All friends are students.

25. Statements:

Some America are Japan

All Japan are China.

Some China are Vietnam.
Conclusions:

I. At least some China are America.
1. No Vietnam is America.

Direction (Q. 26-30): Read the
following information carefully
and answer the given questions.

(i) Eight persons A, B, C, D, P, Q, R,
and S are seated around a square
table- two on each side.

(ii) There are three lady members and
they are not seated next to each other.
(iii) Q is between S and B.

(iv) C is between P and B.

(v) D, a lady member, is second to
the left of Q.

(vi) B, a male member, is seated
opposite to A, a lady member.

(vii) Q is not a female member.

26. Who among the following are the
three lady members?

(A)A,Dand Q

(B)A,Cand Q

(©)C,DandQ

(D) Cannot be Determined

(E) None of These

27. Which of the following is true
about P?

(A) P is a male member

(B) P is a female member

(C) Gender of P cannot be
determined
(D) Position of P cannot be
determined

(E) None of These

28. Which of the following is true
about the person sitting between A
and D?

(A) a male member

(B) a female member

(C) The person sitting between A and
DisR.

(D) Both (A) and (C)

(E) None of These

29. How many persons are sitting
between R and B?

(A) One

(B) Two

(C) Three

(D) Cannot be determined

(E) None of These

30. Who among the following is to
the immediate left of B?

(A)C

B)Q

©P

(D) Cannot be Determined

(E) None of These

Direction (Q. 31-35): Study the
following information carefully
and answer the given questions.
Swati, Sanjana, Sujata, Sarita,
Kanika, Kajal, Kirti and Kritika are
sitting around a circular area at equal
distance between each other, but not
necessarily in the same order. Some
of the persons are facing the center
while some others are facing outside
(ie in a direction opposite the center.)
Note: Same direction means that if
one person is facing the center then
the other person is also facing the
center and vice versa.Opposite
direction means that if one person is
facing the center then the other
person is facing outside and vice
versa.
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Kanika sits second to the right of
Kirti. Kirti faces the center. Sanjana
sits third to the left of Kanika.
Kanika and Sanjana face opposite
directions. Immediate neighbours of
Sanjana face the center. Sujata sits
second to the right of Sanjana.
Kritika sits on the immediate left of
Sujata. Swati sits second to the left of
Sarita. Sarita faces the same direction
as Sanjana. Sarita is not an
immediate neighbour of Kirti.
Immediate neighbors of Kanika face
opposite directions (ie if one
neighbour faces the center the other
neighbour faces outside and vice
versa).

Direction (Q. 36 - 40): What
should come in place of the
question mark (?) in the following

guestions?
36.18.5%x22.5x?=5161.5
(A) 135 (B) 11.4
(C)16.5 (D) 124

(E) None of these

37 81.3 x 40.6 x 160.2 — 2? - 2732
(A) 33.12 (B) 31.22
(C) 22.33 (D) 23.33

(E) None of these
38. (9)2+ (12)2 = (?)2 - 11% of 900
(A) 21 (B) 15
(C)25 (D) 18
(E) None of these
39. (42)2 + Y1728 =2
(A) 48 (B) 124
(C) 142 (D) 151
(E) None of these

(18 x15—20) _ ?x25
40. =
(3.02+94)-76 73-62
(A) 22 (B) 24
(C©)20 (D) 32
(E) None of these
Direction (Q. 41-45): What
approximate value will come in
place of the question mark (?) in
the given questions ? Note : - You
are not expected to calculate the
exact value.
41. 2511.89 + 9.88 + 54.91% of
269.80 =7

(A) 800 (B) 500
(C) 400 (D) 700
(E) 300

31. Four of the following five are
alike in a certain way based on the
given seating arrangement and so
form a group. Which is the one that
does not belong to that group?

(A) Kritika (B) Kajal
(C) Sujata (D) Swati
(E) Sarita

32. Who sits second to the left of
Kritika?

(A) Kirti

(B) Sanjana

(C) Kajal

(D) Other than those given as options
(E) Kanika

33. Which of the following is true
regarding Kajal as per the given
seating arrangement?

(A) Kritika is one of the immediate
neighbors

NUMERICAL ABILITY|
42. 32.23% x 5125 x 33.892 + (2° x
16.96%) = 2’

(A)3 (B)6

©)9 (D) 4

(E) 10

43.7% of (5280 +5.023 x 9 = 11) =
751.23

(A) 85 (B) 90
(C) 65 (D) 70
(E) 95

44. 7 x 5,342 x 4,912 - 13.14 x 4,01
x4 =117

(A) 14 (B) 13
(C) 15 (D) 12
(E)4

45. 31.05% of (25.132)? — 65.432%
of (10.91)2 =7 -33.3

(A) 32 (B) -32
(C) 99 (D) -99
(E) 42

46. In how many different ways can
the letters of the word ‘RIDDLED’
be arranged?

(A) 1680

(C) 2520

(E) None of these
47. The average marks in Science
subject of a class of 20 students is 68.
If the marks of two students were
misread as 48 and 65 instead of the
actual marks 72 and 61 respectively,
then what would be the correct

(B) 840
(D) 5040

average?

(A) 68.5 (B) 69
(C)69.5 (D) 70
(E) 66

(B) Kajal sits third to the right of
Kanika

(C) Kajal faces the center

(D) Only two persons sit between
Kajal and Kirti.

(E) Only one person sits between
Kajal and Swati?

34. What is Sujata’s position with
respect to Swati?

(A) Second to the left

(B) Second to the right

(C) Third to the right

(D) Third to the left

(E) Fourth to the left

35. How many persons in the given
arrangement face outside?

(A) Three (B) Two
(C) Four (D) Five
(E) One

48. Distance between two points A
and B is 42 kms. A race was
organized between Monu and Sonu
from point A in which speed of them
was 3 km/hr and 4 km/hr
respectively. Sonu touch the point B
starting from A and comes back
quickly and meet Monu at point C.
Find the distance between A and C.

(in km)

(A) 28 (B) 32
(C) 36 (D) 35
(E) 40

49. A lady had Rs. 36 and 90 paise in
her bag and the total number of coins
were 180. If there are two types of
coins that is of 10 paise and 25 paise,
then find the number of coins of 25

paise.

(A) 130 (B) 128
(C) 120 (D) 126
(E) 125

50. Mithilesh started a business by
investing Rs 48000. After 7 months,
Vidya joined him with a capital of Rs
56000. At the end of the year of the
total profit was Rs 5885. What is the
Vidya’s share of the profit?

(A) Rs 3625 (B) Rs 1650

(C) Rs 1925 (D) Rs 3960

(E) None of these
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51. The profit earned after selling an
article for Rs 996 is the same as loss
incurred after selling the article for
Rs 894. What is the cost price of the
article?

(A) Rs 935

(C) Rs 945

(E) None of these
52. The simple interest accrued on an
amount of Rs 84000 at the end of 3
yr is Rs 30240. What would be the
compound interest accrued on the
same amount at the same rate in the
same period?

(A) Rs 30013.95 (B) Rs 31013.95
(C) Rs 32013.95 (D) Rs 33013.95
(E) Rs 34013.95

53. What is the greater of two
numbers whose product is 640, if the
sum of the two numbers, exceeds
their difference by 32?

(A) 45 (B) 50

(C)55 (D) 40

(E) None of these

54. If the CP is 10% less and S.P. is
10% more, profit will be double than
that of earlier case. Find the actual
C.P.

(A) Rs. 100 (B) Rs. 180

(C) Rs. 120 (D) Rs. 160

(E) Can’t be determined

55. Arun can row 6 km/hr in still
water. When the river current is
flowing at 1.2 km/hr, it takes him 1
hour to row to place and back. How
far is the place ?

(B) Rs 905
(D) Rs 975

(A) 3km (B) 3.2 km
(C) 2.88 km (D) 2.58 km
(E) 2km

56. A mixture of certain quantity of
milk with 16 litres of water is worth
Rs. 16 per litre. If pure milk be worth
Rs. 21 per litre. How much milk is
there in the mixture ?

(A)76.2 ¢ (B) 61.5 ¢
(C)65.3 ¢ (D)51.2 ¢
(E) 48.3 ¢

57. The radii of three circular pipes
are 2, 3 and 4 cm respectively. The
flow of water is proportionately equal
to the square of the respective radius.
If the three pipes can fill a tank in 72
minutes, then how much time, the 2™
pipe will take to fill the tank.

(A) 3 hrs (B) 2 hr 57 min
(C)3hr52min (D)4 hr

(E) None of these

58. Arun contains 6 red, 5 blue, 3
green and 2 yellow marbles. If 5
marbles are picked at random, what
is the probability that at least 1 is
blue ?

(A) 95/107

(C) 23/109

(E) None of these
59. What is the ratio between the area
of two squares made on the side and
diagonal of a square having area
equal to the area of a cube with side
24 cm?

(A)V3:1
©)1:2

(B) 87/118
(D) 93/104

(B)1:43
(D)1:+2

Direction (Q. 66-70): Study the table and answer the given questions:—
The following table gives some incomplete information on the runs scored by four players Aman, Babu, Chirag and

(i) Aman’s average score was 78.5

Deepak in four different matches.

(ii) The average score in match | for all four players was 68.5.
(iii) Babu’s average score for all four matches was 1.5 times of Chirag’s runs in match I.
(iv) Babu and Deepak scored the same run in match V. The average runs in match IV was same as the average runs in

match I.

(E) None of these

60. If 3 men or 4 women can do a
certain work in 43 days, how long
will 7 men and 5 women take to
complete the same work ?

(A) 12 days (B) 16 days

(C) 22 days (D) 27 days

(E) None of these

Direction (Q. 61 - 65): What
should come in place of the
question mark (?) in the following

guestions?

61. 45, 43, 83, 245, 975, 4869, ?
(A) 29214 (B) 24501
(C) 19476 (D) 29207
(E) 30058

62. 31, 34, 71, 216, 867, 4338, ?
(A) 26028 (B) 26031
(C) 21690 (D) 23150
(E) 23432

63. 16, 24, 60, 210, 945, 5197.5, ?
(A) 33683.5 (B) 33685

(C) 32783.75
(E) 33688.75
64. 16, 16, 40, 140, 840, 7980, ?

(D) 33783.75

(A) 163290 (B) 136290

(C) 132690 (D) 126390

(E) 123690

65. 26.5, 22.5, 36, 92, 343, 1679, ?
(A) 10028 (B) 10025

(C) 10030 (D) 10026

(E) 10027

(v) The total runs scored in match 11 were 20 less than the total runs scored in match I by all four players

66. What is the difference between
the total runs scored by Aman and
Babu ?
(A) 60
(C) 85
(E) None of these

(B) 75
(D) 80

67. The approximate average run
scored by all four players in all four
matches was ?

(A) 70 (B) 65
(C) 67 (D) 62
(E) 75

68. Had Chirag got out on 50 in
match I1I, then how much runs he
must had to made in Match IV to
score 120% of his present total runs ?
(A) 102 (B) 124

(C) 150 (D) 90

(E) None of these
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69. Approximately by how much (C)93.8 (D) 95 score in all five matches with that of
percent the runs of maximum run (E) 88.85 Aman ?

scorer in match | is more than that of 70. If in match V Aman made no run, (A) 80 (B) 70

the lowest scorer in match 1V ? then how much runs Babu have to (C) 75 (D) 60

(A) 90 (B)91.3 make in order to equate his average (E) None of these

ENGLISH LANGUAGE

Direction (Q. 71-80): Read the following passage carefully and answer the questions given below it. Certain
words/phrases have been printed in bold to help you locate them while answering some of the questions.

Once upon a time, there was a royal elephant which used to reside in the premises of the king’s palace. The elephant
was very dear to the king, so he was well-fed and well treated. There was also a Dog who lived near the Elephant’s shed.
He was very weak and skinny. He was always fascinated by the smell of rich sweet rice being fed to the royal elephant.
One day, the Dog could no longer resist the aroma of the rice and somehow managed to sneak into the Elephant's shed. He
ate the grains of sweet rice that fell from the Elephant’s mouth. He liked the rice so much, that he started going there daily
to eat the rice. For days, the huge Elephant didn’t notice the small dog as he was busy enjoying the delicious food.
Gradually, the Dog grew bigger and stronger eating such rich food. Finally the Elephant noticed him and allowed him
access to the food.

The Elephant enjoyed the company of the Dog and started sharing his food with him. They also started spending time with
each other and soon became good friends. They ate together, slept together and played together. While playing, the
Elephant would hold the Dog in his trunk and swing him back and forth. Soon neither of them was happy without the
other. They became great friends and didn’t want to be separated from each other.

Then one day, a man saw the Dog and asked the Elephant-keeper, “I want to buy this Dog. What price do you want for it?”
The Elephant keeper didn’t own the Dog but sold it and extracted a sum of money from this deal. The man took the Dog
to his home village, which was quite far away. The King’s Elephant became very sad after this incident. He missed his
friend a lot and started neglecting everything. He didn’t want to do anything without his dear friend, so he stopped eating,
drinking and even bathing.

Finally, the Elephant-keeper reported this to the King; however he didn’t mention anything about the Dog. The King had a
wise minister, who was known for his keen understanding of animals. The King ordered the minister, “Go to the Elephant
shed and find out the reason for the Elephant’s condition”. The intelligent minister went to the Elephant shed and found
the Elephant very sad. He examined the Elephant and asked the Elephant keeper, “There is nothing wrong with this
Elephant’s body, then why does he look so sad ? | think this Elephant is grief stricken, possibly due to the loss of a dear
friend. Do you know if this Elephant shared a close friendship with anyone ?

The Elephant-keeper said, “There was a Dog who used to eat, sleep and play with the Elephant. He was taken by a
stranger three days ago”. The minister went back to the King and said, “Your majesty, in my opinion, the royal Elephant is
not sick, but he is lonesome without his dear friend, the Dog”. The King said, “You’re right, friendship is one of the most
wonderful things of life. Do you know where that Dog is?”

The Minister replied, “Elephant keeper has informed me that a stranger took him away and he doesn’t know his
whereabouts”. The King asked, “How can we bring back my Elephant’s friend and make him happy again?” The Minister
suggested, “Your Majesty, make a declaration that whoever has the dog that used to live at the royal Elephant’s shed will
be penalized”. The King did the same and the man who had taken the dog, instantly turned him loose when he heard the
proclamation. As soon as he was freed, the Dog ran back as fast as he could to the Elephant’s shed. The Elephant was so
delighted to see the Dog that he picked his friend up with his trunk and swung him back and forth. The Dog wagged his
tail, while the Elephant’s eyes sparkled with happiness. The King was content to see the Elephant happy once again and
rewarded the Minister for his wise judgment.

71. What was the Minister’s diagnosis of the Elephant’s condition ?

(A) The Elephant hated his keeper

(B) The Elephant was lonely

(C) The Elephant was starving

(D) The Elephant had hurt his leg and as in pain

(E) None of these

72. What method did the Minister suggest to the King to get back the Dog ?

(A) To declare that whoever had that particular Dog would be punished

(B) To keep a bowl of rice for the dog in the Elephant’s shed so that he could be lured back to the palace

(C) To command the Elephant keeper to look for the Dog in the village

(D) To persuade the Elephant to call out to the Dog

(E) None of these
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73. Why had the Elephant become very sad ?

(A) He no longer got his daily bow! of rice

(B) He was unhappy with the King for having sold the Dog
(C) He missed his friend, the Dog

(D) He was sold to an unknown man by his keeper

(E) None of these

74. What did the Elephant-keeper do to the Dog ?

(A) He sold the Dog to an unknown man for a price

(B) He hit the Dog as the Dog was eating the Elephant’s food
(C) He killed the Dog

(D) He complained to the King about the Dog

(E) None of these

75. Which of the following would be the most appropriate title for the passage ?
(A) Friends and Enemies

(B) The Playful Dog

(C) The King and the Minister

(D) The Elephant-keeper

(E) The Bond of Friendship

76. Why was the Elephant taken care of ?

(A) He was a very special Elephant as he could talk to Dogs
(B) He was a very loyal Elephant

(C) He was the strongest Elephant in the Kingdom

(D) He was weak and the King had a lot of sympathy for him
(E) None of these

Direction (Q. 77-78): Choose the word/group of words which is most similar in meaning to the word/group of
words printed in bold as used in the passage.

77. DECLARATION

(A) Pact (B) Praise (C) Announcement (D) Writ (E) Resolve
78. EXTRACTED
(A) Pulled (B) Inserted (C) Wing (D) Dug out (E) Received

Direction (Q. 79-80): Choose the word/group of words which is most opposite in meaning to the word/group of
words printed in bold as used in the passage.
79. SEPARATED

(A) Stuck (B) United (C) Estranged (D) Bound (E) Joined
80. RESIST
(A) Givein (B) Please (C) Struggle (D) Try out (E) Defy

Direction (Q. 81- 85): Read each sentence to find out whether there is any grammatical error in it. The error, if
any, will be one part of the sentence. The number of that part is the answer. If there is no error, the answer is (E).
(ignore the errors of punctuation, if any.)

81. He has taken care to (A)/ compliance with the norms (B)/ so he expects the proposal (C)/ to be approved without
delay. (D)/ No error (E)

82. We have received many (A)/ of the letters from customers (B)/ asking us to extend (C)/ the deadline to repay their
loans. (D)/ No error (E)

83. The government has (A)/ launched many creative schemes (B)/ to make banking services (C)/ available to everyone.
(D)/ No error (E)

84. Our equipment gets damage (A)/ very often in summer (B)/ because there are (C)/ frequent power cuts. (D)/ No error
(E)

85. Since | had lived there (A)/ for many years the villagers (B)/ were very comfortable talked (C)/ to me about their
problems. (D)/ No error (E)

Direction (Q. 86- 90): The Following questions have two blanks, each blank indicating that something has been
omitted. Choose the set of words for each blank that best fits the meaning of the sentence as a whole.

86. The move to allow dumping of mercury an outcry from residents of the area who that high levels
of mercury will affect their health and destroy ecologically sensitive forest area.

(A) resulted, insist (B) provoked, fear (C) incited, determined

(D) activated, accept (E) angered, believe

87. Even as the elsewhere in the world are struggling to come out of recession, Indian consumers are splurging
on consumer goods and to this growth, companies are investing heavily in various sectors.

(A) economies, meet (B) countries, inhibit (C) governments, measure

(D) nations, inflict (E) companies, counter
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88. has been taken against some wholesale drug dealers for dealing in surgical items without a valid licence and
maintaining a stock of drugs.

(A) Note, overwhelming (B) Step, impressive (C) Execution, outdated

(D) Action, expired (E) Lawsuit, invalid

89. Many people genetically modified food but the reality is that all the food that we eat has been genetically
modified naturally by thousands of years of .

(A) praise, manipulation (B) grow, mismanagement (C) criticize, farming

(D) avoid, experience (E) condemn, abuse

90. Centre should ministries whose functions with the state ministries to save money, deliver
efficiency and avoid duplication of work.

(A) finish, differ (B) establish, contradict ~ (C) constitute, matches

(D) abolish, overlap (E) block, vary

Direction (Q. 91-95): Rearrange the following six sentences (A), (B), (C), (D) and (E) in the proper sequence to form
a meaningful paragraph and then answer the questions given below.

A). Over the years, | have had the opportunities to observe and understand the thought processes behind the ads that have
been flooding both the print and the TV media.

B). Although there is a huge shift in the quality of ads that we come across on a daily basis-- thanks essentially to
improvement in technology--1 somehow can't help but feel that the quality of communication of the message has become
diluted.

C). Proportionally, the number of ads that lack in quality, have gone up exponentially as well!!

D). There is an increasing attempt by most companies to be seen as cool and funky.

E). Another reason could be the burgeoning number of companies, which means an exponential increase in the number of
ads that are being made.

91. Which of the following would be the FOURTH sentence after rearrangement ?

(A)E (B)D ©cC (D) A (E)B
92. Which of the following would be the FIFTH sentence after rearrangement ?
(A)C (B)A B (D)D (BE)E
93. Which of the following would be the SECOND sentence after rearrangement ?
(A) D (B)E ©A (b)B EC
94. Which of the following would be the FIRST sentence after rearrangement ?
(A)C (B)A (€D (D)B (E)E
95. Which of the following would be the THIRD sentence after rearrangement ?
(A) A (B)C ©FE (b)B (E)D

Direction (Q. 96- 100): In the following passage there are blanks, each of which has been numbered. These numbers
are printed below the passage and against each, five words/ phrases are suggested, one of which fits the blank
appropriately. Find out the appropriate word/phrase in each case.

Gujarat is one of the largest salt-producing states in India, which is the world’s third-largest salt-producing country.
Kharaghoda, 110 km from Ahmedabad, lies in the desert are of the arid Little Rann of Kutch. Here, the earth is so saline
that salt is (96) by using solar (97) on subsoil brine. In other words, groundwater is laid out under the sun, evaporates, and
(98) behind little piles of the white powder. Kolis (indigenous coastal fisherfolk), Dalits and Muslims from nearby village
mine salt in this manner here. Work (99) begins after Navratri, when the rains are gone. Locals head to the salt fields deep
within the desert, (100) small huts made of a few bamboo poles and some sacking, and get to work
96. (A) yield (B) harvested (C) produced (D) breeded (E) manufactured
97. (A) hydration (B) distillation ~ (C) evaporation (D) transformation (E) solidification

98. (A) delivers  (B) abandons (C) gives (D) leaves (E) quits
99. (A) habitually (B) usually (C) sometime (D) although (E) whenever
100. (A) come up (B) held up (C) sumup (D) give up (E) prop up
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ANSWER KEY
1A) | 2B) | 3D) | 4A) | 5A) | 6C) | 7(A) | 8D) | 9(E) 10(B)
11(C) | 12(D) | 13(B) | 14(A) | 15(E) | 16(A) | 17(C) | 18(D) | 19(A) | 20(D)
21(D) | 22(C) | 23(B) | 24(A) | 25(A) | 26(E) | 27(A) | 28(D) | 29(C) | 30(B)
31(D) | 32(C) | 33(C) | 34(B) | 35(B) | 36(D) | 37(E) | 38(D) | 39(E) | 40(A)
41(C) | 42(B) | 43(A) | 44(B) | 45(B) | 46(B) | 47(B) | 48(C) | 49(D) | 50(C)
51(C) | 52(E) | 53(D) | 54(E) | 55(C) | 56(D) | 57(C) | 58(D) | 59(C) | 60(A)
61(D) | 62(B) | 63(D) | 64(E) | 65(B) | 66(D) | 67(C) | 68(B) | 69(C) | 70(A)
71(B) | 72(A) | 73(C) | 74(A) | 75(E) | 76(E) | 77(C) | 78(E) | 79(B) | 8O(A)
81(B) | 82(B) | 83(E) | 84(A) | 85(C) | 86(B) | 87(A) | 88(D) | 89(C) | 90(D)
91(A) | 92(A) | 93(D) | 94(B) | 95(E) | 96(C) | 97(A) | 98(D) | 99(B) | 100(E)

81. (B) Replace ‘compliance’ with ‘comply’
82. (B) Delete “of the’

83. (E) No error

84. (A) Instead of ‘damage’ it should be *‘damaged’

85. (C) Instead of ‘talked’ it should be ‘talking’
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